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runner$ cat -n exanpl e0.c

1 /* Volune of a sphere of radius r */
2 #include <stdio. h>

3 #define pi 3.14159265358979;

4 int main()

5

6 doubl e r, vol;

7 /[* input the radius r */

8 scanf ("% f", r);

9 /* calculate the volune */

10 vol = (4/3)*pi*r*r*r;

11 /[* print radius and volunme */
12 printf("Radius: %0.6f, Vol une:%0.6f\n", r, vol);
13 return O;

14

runner$ lint -m-u exanple0.c
(8) warning: variable may be used before set: r
(10) error: cannot dereference non-pointer type

statenent has null effect

(10)
lint: errors in exanple0.c; no output created
lint: pass2 not run - errors in exanpleO.c
runner$ cat -n exanplel.c

1 /* Volune of a sphere of radius r */

2 #include <Stdl0.h> /***************************/
3 #define pi 3.14159265358979 /* NOTE: SEM COLON DELETED */
4 int nain() /***************************/
5

6 double r, vol;

7 /* input the radius r */ /********************/
8 scanf ("% f", &r); /* NOTE: & | NSERTED */
9 /* Calculate the VO|UHE */ /********************/
10 vol = (4/3)*pi*r*r*r;

11 [* print radius and vol ume */

12 printf("Radius: %0.6f, Volume:%0.6f\n", r, vol);

13 return O;

14 }

runner$ lint -m-u exanplel.c

function returns value which is always ignored
printf scanf

runner$ cc -o exanpl el exanplel.c

runner$ exanpl el

1.0

Radi us: 1.000000, Volune: 3.141593 (NOTE: WRONG ANSVER! )

runner$ cat exanple2.c

/* Vol ume of a sphere of radius r */

#i ncl ude <stdio. h>

#define pi 3.14159265358979

int main()

doubl e r, vol

[* input the radius r */

scanf ("9 f", &r);

/* Calculate the V0|UHE */ /******************************/
vol = (4.0/3.0)*pi*r*r*r; /* NOTE: (4/3) NOW (4.0/3.0) */
/* print radius and VO|UnE */ /******************************/
printf("Radius:%0.6f, Volumne:%0.6f\n", r, vol);

return O;

runner$ exanpl e2

1.0

Radi us: 1.000000, Volune: 4.188790
runner$ exanpl e2

10.0

Radi us: 10. 000000, Vol une: 4188. 790205



